% 13E

a—F |

BET7IN—/\RIVIMHEKRE

PR DER TR

IBALRE S BFS A

RS

2022594 1|1 B B

* ?% % Iﬁ\ *

vy DIELT S

F—L%

ED

e

5 &

6 &

H%% lﬁ\

yhE

/ﬁ\ %

NE iz

AL+

RN

13 16

E2t vk

15 8

SV S

28 24

BLtvvhk

0]

(EE

4

B5H =

4

e
EEE

e
EEE

I q

5 12

16 21

DAIGOD

RN

16 13

E2t vk

8 15

SV S

24 28

BLtvvhk

(EE

B5H =

e
EEE

15 6

26 17

e
EEE

JUST A WAY

Eltvvh

E2t vk

SV S

BLtvvhk

(EE

B5H =

e
EEE

18

37

HhETNT

Eltvvh

E2t vk

SV S

BLtvvhk

(EE

B5H =

Hul
B Bt

B
EEE

-11

(h

(7

(10)

(13)

(16)




%130

BET7I)—/NRIVMHERE

2022%9R 118 R

J—b2 #HEoR TR IBACRE I LA - BALYh - BEA - Uriry OIECTD
Foot ik 2ee 3RE 4 S 5 & e Bbs tobE BE NEM
glevh 7 12 2 Il 5 I
#2tyk 5 14 NE 6 g
®/% 12 26 E¥® 3 24 I%E 5z 1 20
DAIGOD . or 2 @l -2 #aE  @E 2 0 -6 -44 4
/LA -14 =21 -q
Bt = 0 0 0
gleyk 12| 7 g ¢ 3 &
#2tyk 14 5 g 4 e
&k 26 12 2= IE 18 10 5 10 FEE
UPBC exenr o wE  BAR 2 2 @AM 12y 2 17 2
P 4 s -
Bt A 6 6 0
AR 6 I 11 2 4 3
2wk 8 3 I3 | 6
o= /% ¥} 14 4 24 3 FE 10 5 FIE
FRIZTA BRtyh FRR 2 2 4o 52 2 452 18 6 36 1
=R 10 21 5
Bt = 6 6 6
Eltvh I 6 6 q I 5
2wk 3 8 4 9 9 6
B8/ % 2 2 4 14 FIE 10 18 F=E 20 ||
AFB Breyr  BE 2 e 2 @AR 2 6 -2 -9 3
/LR -10 -8 g
Bt R 0 0 6

(2)

(5)

(8)

(rn

(14)

(17)




%130

BET7I— NIV HBARE

2022%9R 118 R

d— b3 OB P2 BEREIE LS - Bty - B - Yoory OIELTS
F—1% = 28 a S 4BE e e Bt tvbE S JEL
#£ltyr 5 8 17 7 6
g£2tyh 6 7 10 4 8 5
B'/% 11 15  F® 21 Il FE 2= 15 1l
D.L.S Bruvl -2 BAR 2 ‘A BE 2 2.2 10 2
EE -4 10 4
BEL A 0 6 6
#£ltvyb 8 5 15 7 14 7
g2y 7 6 12 4 14 49
®/% 15 I 2| = FE 27 11 28 16 F3E
Joker  asiot 2 wE  @AR 2 2 @Ak 18 6 32 1
EE - 4 |6 12
BEL A 6 6 6
AR 8 13 7 1l 7 14
%24y b 8 Il 4 10 9 14
s — EYES FE 16 24 11 2l 2| 5% 16 28 2| &
BITTN o mak 2 2 i pop 0 -6 -30 4
BrEA -8 -10 -12
Bt = 0 0 0
AR 13 8 7 15 6 7
%24y b N 4 12 5 8
B8/ % Bl 24 16 51| 3 27 EE Il 15
HaM Breyr  BE 2 wE 2 @Ak -2 6 -2 -12 3
BrEA 8 -16 -4
Bt = 6 0 0

(3)

S))

(12)

(15)




